SA7TFE18258 (H41HEB) =B PRANIVEF

JDSFE S BRE#MPD I Oy OV ARV~
EINE DY Sovk WBH | up | o g 8 I8
1 10:00 |JDSF « Bfk » L F15E 27| 3 18 3 |S*R-P 17
2 1016 |JDSF « DfR « L HERf% 10| 1 6] 2 |IC*R 4
3 10:20 |JDSF « C#h » L $ERRS 6| 1 6] 3 |S*C-*R 7
4 | 1026 |JDSF - B - L £0%% 18 2 | 12| 4 |S-C-R-P 15
5 1041 | ZPM - Afk - L HER S 5 1 5 2 |S*R 4
§) 1045 | ZP0 « Afk - L EERRE 6| 1 6] 3 |IS*C-R 7
7 1051 |JUDSF « Bk » L HER B 121 1 6] 4 |S*C*R-*P 7
8 | 1058 |JDSF - D - L BB 6 1 | IBm 2 |c-R 4
9 1102 |YZPM - Afk - L BB 5 A1 81| 2 SR 4
10 | 11:06 |[Y=P1T - Atk - L OB 6 1 | IEm| 3 |s-C-R 6
11 1112 |JDSF « C#R » L BB o 1 81| 3 |S+C-*R §)
12 | 11:18 |UDSF « B - L BB 6 1 | IEf 4 S-C-R-P 8
— 1126 e 35
13 | 1201 |YZPN - B#h + S EERRE 8 1 6] 2 W-T 4
14 | 1205 | ZPN s Afk S HER S 9l 1 6] 2 W-F 4
15 | 1209 |Y=7I - B - S R 8 1 6 2 wW-T 4
16 | 1212 |YZP0 B S HERS 9 1 6] 3 WeT-F 6
17 | 1218 |UDSF - B - S £1F% | 56 5 | 35 3 |W-T-Q 28
18 | 1245 | ZPN B+ S RO o 1 81| 2 |[W-T 4
19 | 1249 |Y=PN - AR+ S BB 6 1 | BN 2 |W-F 4
20 | 1253 ([P Bk S RO o 1 81| 2 |[W-T 4
21 | 1257 |Y=P1 -B%-S BB 6 1 | IBF 3 W-T-F 6
— 1303 |zea 10
22 | 1313 |UDSF - Bk + S #oF® | 35 3 | 18/ 3 |W-T-Q 17
23 | 1330 YZPMA#% S F1FE 19| 2 121 2 W-F 7
24 | 1337 |UDSF - D - S £1FE | 14 2 | 10 2 W-T 7
25 | 1345 |UDSF«C#x + S F1FE 26| 3 18 2 W-F 11
26 | 1356 | V=PI - AfR~S £1F%2 | 20 2 | 12| 3 |W-T-F 1
27 | 1407 YZPM A+ S HERfS 121 1 6] 2 W-F 4
28 | 14:10 |UDSF - D + S ep | 10| 1 6 2 lwW-T 4
29 | 14114 | UDSFC#x S FEI2TE 18] 2 12 3 WeT-F 11
— 1425 |45 —/\N)U 5
30 | 14:30 |JDSF - B#h + S EITE 18| 2 12 4 WeT-*F-Q 15
31 | 1445 | V=PI - AfR-S wap | 12) 1 6 3 W-T-F 6
32 | 1450 |JDSF «Cfh S HERfS 121 1 6] 3 WeT-F 6
33 | 14:56 |JDSF - Bift - S wap | 12) 1 6 4 W-T-F-Q 7
34 | 1503 |YZPM Ak S RO o 1 8| 2 W-eF 4
35 | 1507 |JDSF - Dk + S BB 6 1 | Bk 2 |wW-T 4
36 | 1511 |YZP0 Ak S RO 6| 1 81| 3 WeT-F 6
37 | 1517 |UDSF-C#& - S BB 6 1 | IBF 3 W-T-F 6
38 | 1523 |UDSF «B#h + S RO 6| 1 IBFI| 4 WeTF-.Q 8
— 1531 |XER 5
— | 1836 |7 4 F—L A =

KA LT —TNVEHETEBLTI., BREBDBEECSNFTIDTITERLIZSN,




